Ryl il
CX/MR/CE

¢ 5%F - EERS LTS HET]

¢ For short from, light weight and high speed rotary cylinder.

& AT LR EIRMEE » BERERI TSI RER R

¢ Can screw it from the rear end of the cylinder when mounting.
¢ RO HZREEL

4 Builit-in safety check valves, pressure relief valves and proximity sensor.

o SH3LAERIUEBHOHENE - LR REEHE

® The drain port should be independently connected to oil tank to avoid back
pressure.

&

I[ﬂ s SRRSE B (B2 R)
| A
i i """'—:T
—— .| @
= W ;
B ’ : " '-_4 {r" m ~ :I S E Air/Water G %
2E— — —, __T ....l " -ri E CI.
= Al \K ' :
; J
5 ¥ L ‘-""!._‘
Fig1 RC1/4 wan ] . ad La |
2~RC3/48:uA ;
\M DR
. Re1 /8| mea / - I N n |,
|
- = | -
.-"'f -1
|I.-"' %,
. ”}_ i i
\ ~
H“‘\ ,”j s La l
oY i # |
NG LR
# AR IO MR (ES8)
NER Y Dimensions
 AERT
o ﬂ-ha__ A s e | "B E E e | s J K L M N
CX-110 22 30 80 (145|128 | 128 | 145 38 M20x2 12 6~ME8x70 b6
CE-A130 24 26 51 (| 168|——| 150| 171| &8 40 M24x3 17 6~M10x85 79.5
MR-20060 b~M16x155 145
38 55 | 120 | 250 145 | 225 | 257 | &5 60 M36xL 26
MR-20090 6~M16x185 | 175
MR-25060 @45 | 65 | 160 | 300|220 |275| 305 12 65 Mua2x3 | 28 6-M16x175 | 165
o AR e [
bk ﬂ% o | P F——"2—1R |8 | T U v | w | x | Fig
CX-110 191 10 60 40 |26.5| 21 5 b—~M8 114 | 78 @39 1
CE-A130 158 | 7.5 | 60 30 5 |——| 15 —_——— | 114 |—— @38 1
MR-Z0060 | 225 == 135| 6 @ 6~M16
MR-20090 3185 15 |[115 25 |140 — | —— | 2 | & CXFRIUMAIMGE KNG E 6§
MR-25060 | 280 85 146 5 B—~M2Z20
Rl 3848 Specifications
T MR SEEEENIE cm?  Eff. piston area 552 mm B ETisEE (rpm) = G {55 2 D =8| g
AR | #P{@El Extend #ii{8l Retract Fiston stroke Max. speed "NRa (Rarcm®) Weight
CX-110 91.2 a7.9 20 6000 1] 7.5
CE-A130 128.9 1220 30 6000 4o 91
MR-20060 60 u5
293 275 5500 5.0(50)
MR-20090 S0 50
MR-25060 u4e5.2 n3s8.2 60 2000 5.0(50) 72




